Math 8: Ratios, Rates, Proportional Reasoning Final Exam Review

e Introduction
a. What is the ratio of circles to squares? [
What does 4: 7 represent?
b. Are the following ratios equivalent?
4=16 12=108  fo.
6 24 22 242

e 9/)' Sguanes; _f,f?\t?%,

e Two Term and Three Term Ratios
a. Write each ratio in lowest terms using ratio notation and fraction notation.
S8 comparedto$32 §/'32 ey Tlf‘
A bag holds 48 red chips and 12 black chips. Compare black to total chips. 12 = @0 =) 15 _;i: _

b. Identify the missing number required to make equivalent fractions.

2=2 g 2=9 3
4 32 12 36
c. Use the chart to answer the following. / Pimao a '\d
| corwvieo
Coin Heads | Tails - - - - { -
Tbime |36 24 32 W.hlch coins have equnvalent.head to tails r tlps? Show the ratio of

Nickel | 2 2 20 l’t/allsl,tolico_taLm__s,ita_s,Jas a fraction, decimal and percent.

["Loonie | 48 322 |3 L=8 e / ,/ \\
24 0347260274  39.7260279C
e Rates ’7'3-

a. Determine the unit rate to the nearest hundredth if a car drives 800 km in 6 hours. (33. 3 k»./h
b. Use the table to answer the following.

4 Candy | Mass Price 5
0.5¢ __|A 1200g | $7.00 What is the unit price per 100g for each package? Which
loos B 2000g | $9.50 package is the best buy? Why? ~  Lscavme it has
¢ 2800g | $ 11.80 7 W leure b cest pe iod
50,48 £ son2y
—_— (oo
loo c. Car Adrove 1200 km in 13 h. Car B drove 1800 km in 19 h. Which car is faster? Round to the
nearesttenth. 3. 3km/h 74, Tkmf, LB b g 24 k,,,%‘ '
d. Use the chart to answer the following.
Can us Aus Euro What is the value of $600 Ca in/ ¥ 3 GC. IC,
1 0.9765 | 1.3537 | 0.6262 |_Euro? $375 Ca is how many US?__

~
€375,72 | $450 Ca is how many Aus?

e Proportional Reasoning bbéa" | 7
a. You are paid $80 for 12 h work how much would you get for 6? ¥4 o
b. Find the missing value 240 km = x 4%0 Knn
12 24
c. Set up a proportion if 40 seeds have a mass of 62 g and 120 seeds have a mass of 204 g.
/ d. 6 kg of fish costs $56.40. How much will 14 kg cost?

B0 seeds - [20 seedo > ﬂ[3[, (gO
623 04
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e. A machine cuts logs into four pieces in 16s. If it continues cutting at a constant speed how
- . 5 - —
long will it take to cut 400 pieces? 1600S = 26.06 n—odh.
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